
LF1
sl.=13

in: 0...15

in: 0...5

STB

BUF

LD2
sl.=18

LF2
sl.=20

in: 0...5in: 12...15

MLU2
sl.=17

in: 0...11

ENA1

in: 6...15L2 SECTOR BITS
from L2 MLU

sl.=15

L1 ACCEPT

L1 PRESCALED
Outputs from TS

HELICITY BITS

12

2

in: 0...11

GTO1
GTIN
STB

in: 14,15

RDY1
RDY2

BUF

STB

LD1

Space Frame

in: 8...15

16 16

12

10

4

8
6

out: 1

out: 0

out: 8...15

out: 4...7

out1: 0...15

out2: 0...9

L2 PASS

L2 FAIL

to

TS

Level 2 "Pass-Fail" Logic.  FC, C2-6, VME="scaler1"

V560E

6

L2 START GTIN

RDY1

out1: 0...5

RDY2

out2: 0...11

L2 ACCEPT

in: 0...15

out: 0...15

ENA1

MLU1
sl.=14

sl.= 9
scaler
V560E

in: 0...15

sl.= 8
scaler


